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(d) Sluggish (Adjective) means dull, slow-moving.

(d) Crafty (Adjective) means artful, skillful.

frer

(a) Covert (Adjective) means secret.

(b) Essential

(a) Headache

(a) boasted

(b) have

(c) his

(d) on

(c) than

(d) A genuinely charitable person W

(¢) A man of importance

(a) Secret or hidden enemy

(d) To tell a secret without intending to do so

(a) Unskilled

(b) Illegal

(d) Prominent

(c) Versatile

(c) Assassin

(d) Infanticide

(¢) Use ‘but’ in place of ‘and’.

(a) Add ‘the’ before ‘more’ (See Degrees of
Comparison).

(b) are made

(b) was tired

(c) of

(b) Until

(b) Sinister

(b) To

(d) Versatile

(d) To grasp the hidden meaning
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